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6-7 Skills Practice

Solving Radical Equations and Inequalities

Solve each equation.

1.Vx =5

3.5/j=1

5. 18 — 3yz = 25
7.4/b—-5=4
9.3r-6=3
11.Vk—4-1=5

1
13.(t — 3)3=2

15.V3z—2=+Vz—-4

Solve each inequality.

17.4vx + 1212

19. 2++/3x+3<7

21. 2v/4r —3>10

23.\Jy+4-32=3

Chapter 6

2

10.

12.

14.

16.

18.

20.

22.

24,

Ax+3=7
1

.v2+1=0

2w =4

.V3n+1=5

2+/3p+7=6
1

(2d + 3)3 =2

1
4-(1-7u)3=0

Jg+1=y2g9-7

5+vc—3<6

—2a+4>-6

4 -+3x+1>3

-3V1lr +3>-15
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Pencil


I CHECK CHECK
il /=5 JE—b Bz +3=7 CHECK 305,57 =1 -
(vz)? = 52 o B V=4 Ji=1 5
o=t VD3 G, VIB=4 VITE i
5 :;’5 (Ve)? = 42 4= (V1) = (5)° g |
.47 = z =16 z =16 e L 24
PE 1= 55 j=5
4 vii+1=0 CHECK 5, 18—3y%:25 CHECK
vi=— ) 1 7 491 7
(v%)2:(_1)2 12 =-1 ?1922: *37 ; (9) = 13
& 1=t (¥2)? = (5) 3#
= no solution Y = % .". no solution
CHECK R CHECK
3 —_ —
6. 2w =4 V2w =14 b—5H=4
(v2w)® = 43 5/2(32) = 4 (Vo—5 =42 21 —5=4
2w = 64 64 =4 b—5=16 v12:4
_ 4= = -
w =32 - b=21 b— 921
CHECK . CHECK
it - 3r—6=3 T
8. v3n+1 7] m:5 9, i ng
9 D) g 3 3
(V3n+1)=5 ORI (V3r—6)"=3 /3(11) — 6 = 3
n+1=25 3r—6 =27 33 _ 6 — 3
3n = 24 v24+1=35 3r =33 Y27 = 3
n=8 5H= R == i |
02+/3p+7=6 CHECK CHECK
V3p+T=4 WVk—4-1=5 —
YT =4 33) +7=4 =t
(VI FT)E =4 oy WEIP=g E-I=0
3p+7=16 o 3 V36 =6
B =4 k—4=236
_ 6=6
3p=29
4—4 k=40
p:3 .p:3 .'.k:40



12 (2d+3)1 =2 EHEDK 18 (t—3) =2 CHECK
((2d—|—3)%)3:23 (2(%)4—3) =2 ((t—3)5) = 28 (t73)§1:2
rgms Gagir e wegies

=3 _-_d:% s i
CHECK
My (1-Tu)i=0 =
4=(1-T7u)} 4=(1-"Tu)s
4=(1-"7(-9))3
64=1—"Tu 4:(64)%
—9=u = -9
15./3z —2 =z -4 16. ¥ T =2g—7 CHECK
(\/73:72 Fif 12 (VaFI?=(v2-7? JgTI=v3g—7
z—2=z- CHECK g+1=29-7
R _ VB+1=+/2(8)-7
2z = -2 V3z—2=+z-1 8=g
Fi—-—] il i g:S ‘\/gz\flﬁ_T
3(-1)—2=+-1-4 Vo= /B
V=0 =4/—D L
e negative under radical g=8
.. no solution
TEST:
17. 4/z+1>12 DOMAIN: s
RELATED EQUATION: (gdf’f)>0 —1 8
4y/z +1=12 . | 2=3 | z=8 | =15 |
VT+1=3 - 43F1>12 4811212 4yT5F1>12
(VaFI)2 =32 e W21 VIG>3
r+1=9 223 823 4>3
FALSE TRUE TRUE

x =8

e don'tneed totest £ < —lasdomainis z > —1 x> 8



W5+.c—3<6 3 TEST: 4

RELATED EQUATION: DOMAIN: I c—=35 I c—4 I c—=19 I
9 a5 (radicand) -
(Ve—3PF=1* . 3>0 5+y35-3<6 5+,4-3<6 5+yD-3<6
c—3=1 e>3  54++35-3<6 5+vI<6 5+V16<6
c=4 ~57<6 6<6 9<6
o TRUE TRUE FALSE
e don'tneedtotest c¢<3 asdomainis >3 md=fe< 4
TEST:
B2+ .3z+3<7 TEST:
RELATED EQUATION: DOMAIN: —1] 26
(VIzrap=9 9. [Laz=1 ] «-26 [ «—50 ]
32+3=8l  gp>_g -2+VAFI<T -2+ /BE0)F3<T 2+ VEEO)F3<T
=T R . ~104 <7
e — 78 x> —1 ~045 <7 T<d
z— 26 TRUE FALSE FALSE
e don't need to testz < —1 as domainis z > —1 So—1 <z <26
TEST:
20. —\/2a+4> —6 9 16
RELATED EQUATION: DOMAIN:
9 . | a=6 | a=16 | a=30 |
(m)g - 62 (radicand)
. 2a+4=20 _ 5By Td4>-6 —/216) +4> -6 —/2(30) +42> 6
2 == 2 > —4 /6> 6 V3626 Ve > -6
2a = 32 a> -2 s —6>—6 -8> -6
a=16 TRUE TRUE FALSE
e don't needtotesta < —2 asdomainis g > —2 —2 § a S 16
TEST:
21. 24/4r — 3 > 10 3 —
RELATED EQUATION: DOMAIN: 4 7
2 2 (radicand) I = 1 I = 7 I = 10 I
4r —3)° =5 dr —3>0 : .
4r-3=2 4 573 2V -3>10 2/A7) -3>10 2/4(10)-3>10
= 2vI>10 2v25 > 10 ~12.2> 10
=28 Fa g o b 10 > 10
- 3 TRUE
FALSE FALSE

e don'tneedtotest r < ¥ asdomainis r> - ot =B |



TEST:

24— /3x+1>3 -1
RELATED EQUATION: 3 0
3z +1=-1 | z=3 | z=0 | z=10 |
(V3z +1)2 =12
* - — 4-/3(F)+1>3 4-30)+1>3
i 21 i é (radicand) . 35>3 4-vi>3 Lt ST b
‘a::o 3x+1>0 TRUE 3>3 ~—16>3
"= 3z > -1 RRERE FALSE
-1
£ ~1
o T <x <0
23. /y+4_323 TEST:
RELATED EQUATION: —4 32
(Vy 9 =6 L vy=0 | y=32 | y=60 |
y+4:ig JiFi-3>3 32+4-3>3 60F4-3>3
¥=s 2-3>3 6-3=3 8—3>3
oo 3>3
DOMAIN: L2d = 825
(radicand) FALSE TRUE TRUE
y+4>0
y > —4 = el
#_3./11r +3 > —15 _3 TEST:
RELATED EQUATION: 11 9
(vIir —3)2 = 52 [ r=1 T r=2 1 r=3 1
i f;; —3/11(1) +3>-16 -3,/11(2)+3 > 15
1r= 5 ~—-11.2> -15 15> 15 ~3/11(3) 13> -15
A TRUE TRUE ~18 > 15
DOMAIN:
(radicand) FALSE
11r+3 >0
e =
TE &3 o i B

=3
T2 g





